

$$\left. \begin{array}{l} a_1 = f_0 \\ a_2 = q_1 \end{array} \right\} n \quad a_n = Vn + r^2 \rightarrow a_n = Vn + r^2 = r_0 \cdot n \quad 1$$

$$Vn = r_0 \cdot n - r^2 \rightarrow Vn = 140 \rightarrow \boxed{n = 20}$$

$$99 < Vn + r^2 < 1000 \rightarrow \frac{99}{V} < \frac{Vn + r^2}{V} < \frac{1000}{V} \rightarrow 15.1V < n < 151.5V$$

$$n: 15, \dots, 151 \quad \frac{151 - 15}{1} + 1 = \boxed{137}$$

$$n=1 \Rightarrow a_1 + a_2 + a_3 = 4 \Rightarrow a + d + a + r + d + a + r + d = 4 \Rightarrow 3a + 3d = 4 \Rightarrow a + d = \frac{4}{3} \quad (1)$$

$$n=2 \Rightarrow a_2 + a_3 + a_4 = 0 \Rightarrow a + r + d + a + r + d + a + r + d = 0 \Rightarrow 3a + 3d = 0 \Rightarrow a + d = 0 \quad (2)$$

$$(1), (2) \Rightarrow d = -\frac{4}{3}, a = \frac{4}{3} \quad a_n = a + (n-1)d = (n-1) \times (-\frac{4}{3}) + \frac{4}{3} = -\frac{4}{3}n + \frac{4}{3}$$

$$10 \quad a_{10} = -\frac{4}{3}(10) + \frac{4}{3} = -\frac{40}{3} + \frac{4}{3} = -\frac{36}{3} = -12 \quad a_{10} = -12 \quad a_{10} + a_{11} = -24 - 12 = -36 \quad \boxed{36}$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$15 \quad a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$a_1 = a, a_2 = a + r, a_3 = a + 2r, \dots, a_n = a + (n-1)r \quad r^2 = 1 \Rightarrow r = 1 \text{ or } -1$$

$$d = \frac{r_1 - r}{f_{n-1} - 1} = \frac{r_0}{f_{n-1} - r}$$

$$a_n = a + (n-1)d$$

9

$$a_n = r + \frac{r_0 n}{f_{n-1} - r} - \frac{r_0}{f_{n-1} - r} = 11$$

$$\frac{r_0 n - r_0}{f_{n-1} - r} = 9$$

$$r_0 n - 11 = r_0 n - r_0$$

$$\frac{9n}{9} = \frac{-11}{9} \rightarrow \boxed{n = -1}$$

5

$$a_n + a_{n+1} = a_r + a_{11} \rightarrow a_1 + dn - d + a_1 + dn + rd = a_1 + rd + a_1 + 11d$$

pure - 10

$$rdn = 11d \rightarrow rn = 11 \rightarrow n = 11$$

$$a_n = \frac{ra}{n} \rightarrow a_n = \frac{ra}{f}$$

$$a + vd = r(a + rd) \rightarrow a + vd = ra + rd$$

$$\boxed{a = pure}$$

10

$$ra + rd = 0 \rightarrow \boxed{a + d = 0}$$

15

20

25

30